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Read the following passage and answer the questions 1 to 5.

Non-probability sampling is that sampling procedure which does not afford any
basis for estimating the probability that each item in the population has of being included
in the sample. Non-probability sampling is alsa known by different name such as
deliberate sampling, purposive sampling and judgement sampling. In this type of
sampling, items for the sample are selected deliberately by the researcher; his choice
concerning the items remains supreme. In other words, under non-probability sampling,
the organisers of the inquiry purposively choose the particular units of the universe for
constituting a sample on the basis that the small mass that they so select out of a
huge one will be iypical or representative of the whole. For instance, if economic
conditions of the people living in a state are to be studied, a few towns and villages
may be purposively selected for intensive study on the principle that they can be
representative of the entire state. Thus, the judgment of the organisers of the study
plays an important part in this sampling design.

In such a design, personal element has a great chance of entering into the selection
of the sample. The investigator may select a sample which shall yield results favourable
to his point of view and if that happens, the entire inquiry may get vitiated. Thus,
there is always the danger of bias entering into this type of sampling technique. But if
the investigators are impartial, work without bias and have the necessary experience
so as to take sound judgement, the results obtained from an analysis of deliberately
selected sample may be tolerably reliable. However, in such a sampling, there is no
assurance that every clement has some specifiable chance of being included. Sampling
error in this type of sampling cannot be estimated and the element of bias, great or
small, is always there. As such this sampling design gets rarely adopted in larpe
inquiries of importance. However, in small inquiries and researches by individuals,
this design may be adopted because of the relative advantage of time and money
inherent in this method of sampling. Quota sampling is also an example of
non-probability sampling. Under quota sampling the interviewers are simply given
quota to be filled from the different strata, with some restrictions on how they are to
be filled. In other vords, the actual selection of the items for the sample is left to the
interviewer’s discretion. This type of sampling is very convenient and is relatively
inexpensive, But the samples so selected certainly do not possess the characteristic
of random sample. Quota samples are essentially judgement samples and inferences
drawn on their basis are not amenable to statistical treatment in a formal way.
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The Central Idea of the passage is concerned with :

(1} Probability Sampling (2) Statistical Analysis

(3) Random Sampling (4) Non-probability sampling

2. TR gy T TEA RO A SEEet W e 2

(1) TR T (2) foia g

(3) Agfesh T (4) HEH LN
Non-Probability Sampling is NOT known by this name :

(1) Purposive Sampling (2) Judgement Sampling
(3) Random Sampling (4) Deliberate Sampling
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(c) Wl Fe T FEse |
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(3) TR (a) 0T (b) B AT TETT AR
(4) S0 FUEE WG A T,
Results obtained from an analysis of a deliberately selected sample may be reliable
if :
(a) Investigators are unbiased.
(b) Investigators are experienced.
(c) Investigators select a favourable sample.
(d) Investigators use statistical methods.
Answer Optiaons :
(1) All of the above are correct.
(2) Only (a), (b} and {c} are correct.
(3) Only {a) and (b} are correct.
(4) None of the above are correct.
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Why is the researcher’s judgement vital in the non-probability sampling design ?

(1} Researcher’s choice concerning the items in the sample is supreme.

(2} Researchers have to work without statistical analysis.

(3) Researchers are not biased.

(4) The design is convenient and inexpensive.

5. 1 3araW Rl Fivn faum e o ?
(1)  IR-Wsree T=ma mw@ﬁwwwm.
(2)  IR-wsrEra TR Ty faree aa,
(3)  IR-WEER TR TS TSI sErt .
(4) I T Aierw! favduw heqw g ey frzam.
Which of the following statements is made in the passage ?
(1) Choice of the researcher is very important in Non-probability sampling.
(2) Non-probability sampling results in failure of research.

(3} Non-probability sampling helps us estimate sampling errors.

(4) Statistical analysis of quota samples gives accurate inferences.
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Read the following passage and answer the questions from 6 to 10.

Bio-fuel

Henry Ford and Rudolf Diesel these two persons made revolution in motor car
industry. They expected that their motor car should be run on fuel obtained from
plants, but in those days crude oil was the cheapest and won the competition. Petrol
became popular and dream of Henry Ford and Rudolf Diesel shattered. After a century
the will of Henry Ford and Rudolf Diesel is about to fulfil. Presently the hike in the
petroleum opens the channel for bio-fuel. Slowly the use of bio-fuel in cars, trucks
and aeroplanes is becoming popular.

Brazil took lead in the bio-fuel. At present there are more than four hundred
ethanol production centres in that country, that ethanol produced only from sugarcane.
They clo not use the pure gasoline but mixed 25% ethanol in it. In future, only ethanol
consuming vehicles will be manufactured in that country. More and more land is used
for the plantation of sugarcane and ethanol producing plants. “Gasoline cars are
slowly disappearing.” technicians of that country claim.

Ethanol is obtained from maize in America. Germany is the largest producer of
biodiesel in Europe. Along with India other 30 countries are trying to produce ethanol
from various plants. Ethanol can be produced from the plants like coconut, soyabean,
groundnut, palm, grapes and beetroot.

The most important thing is that conventional car engines can be run on bio-fuel.
Apart from this, the proper mixture of ethanol in gasoline or diesel can be used as fuel.
The conventional diesel engine can run better in 20% bio-fuel. It means there is no
need to change the vehicle engines for bio-fuel. Its speciality is that Bio-fuel does not
emit carbon-dioxide.

Nature take crores of years to produce crude-oil, instead the bio-fuel is obtained
from the plants and vegetation. Bio-fuel not only emits the low carbon-dioxide but also
does not emit the toxic gases like nitrogen oxide. The production of bio-fuel will be
depending on the growth capacity of the plants and availability of land for the plantation.

Apart from this the production of bio-fuel will be possible from the various types of

waste.
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Use of which of the following source of energy in motor cars shattered dream of
Ford and Diesel ?

{1) Biodiesel {2) Diesel (3) Ethanol (4) Petrol

7. woE faum 9 P atae dm watg e
ﬁrﬁﬁ : SEEYA § G doiel Ta 8% R
frerd (4) : B Yo Fftidien FegEd ad srmEm.
(B) : Gt dor=n Seaeirges famm argh fafHd 2.
Tt T ;
(1) ¥ (A) TR F (B) T[F
(2) T (A) afn (B) sA=T
(3) fr=xd (A) anfor (B) 9=
(4) =i (4) IF 9 (B) TR
Choose the correct alternative from Statement and Conclusion given below :
Statement : Bio-fuel is alternative to crude oil.

Conclusion (&) : Crude oil takes crores of years to produce.

(B) : Due to crude oil, toxic gases will be created.
Answer Options :

(1) Conclusion (A} correct, {B) incorrect
(2) Conclusion (A) and (B) correct
(3} Conclusion (A) and (B) incorrect

(4) Conclusion (A) incorrect, (B) correct

HoAT HIAEMS A /SPACE FOR ROUGH WORK P1.0



Z13 10

8. Wl TR fHwA sET aRa ?
(a) ST S SR S .
(b) HIFT T UG T He> .
(c) FUUKIS T 81 3V TR EITn Healid Higl IR 3 TR,
TgiE I
1) 99 (a) T SR (2) W (a) 0T (b) SUET A
'3) TR (a) I () TR A (4) 9§ FUS AR
Which of the following statements are correct ?
(a) Brazil took lead in the bio-fuel production.
(b) Ethanol is obtained from sugarcane in America.
) Germany is the largest producer of biodiesel in Europe.
Answer Options :

(1} Only (a) is correct {2) Only (a) and (b} are correct
{3) Only {a) end (c) are correct (4) All are correct

9. IRFGUHI wIUR AU SRER amed ?
(a) URARE FR AT FAGYAR < VAL
(b} TTHISH TR AHIY Bidie,
(c) IR SEHUT FH B W,
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At sy
(1) {a) 3 (b} SR (2) (a), (b) S (o) T
(3) fa), (c) 3O (d) = (4) oo wd W

Which of the following statements are correct ?

(a) Conventional car engines can be run on Bio-fuel

(b) Gasoline cars are disappearing.

(c) Pollution minimize due to Bio-fuels.

(d) No change of vehicle engines due to Bio-fuel.

Answer Options :

(1) (a) and (b correct (2) (a), (b) and (c) correct
(3) (a), (¢) and {d) correct (4) Above all correct
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Which of the following henefits of use of Bio-fuel are correct ?
{a) Bio-fuel is made from vegetations.

(b} Less pollution by use of bio-fuel.

(c) Use of bio-fuel will save crude oil.

(d} Bio-fuel is cheap.

Answer Options :

(1) {(a) and (b} (2) (b) and (c)

(3) (a), (b) and (¢ (4) Above all
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[Force, Criminal Force and Assault]
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Read the following passage and answer the questions 11 - 15.
Of Force, Criminal Force and Assault

349. Force - A person is said to use force to another if he causes motion, change
of motion, or cessation of motion to that other, or if he causes to any substance such
motion, or change of motion, or cessation of motion as brings that substance into
contact with any part of that other’s body, or with anything which that other is wearing
or carrying, or with anything so situated that such contact affects that other’s sense of
feeling.

Provided that the person causing the motion, or change of motion, or cessation of
motion, causes that motion, change of motion, or cessation of motion in one of the

three ways hereinafter described.
First - By his own bodily power.

Secondly - By disposing any substance in such a manner that the motion or
change or cessation of motion takes place without any further act
on his part, or on the part of any other person.

Thirdly - By inducing any animal to move, to change its motion, or to cease
to move.

350. Criminal force - Whoever intentionally uses force to any person, without
that person’s consent, in order to the committing of any offence, or intending by the
use of such force to cause, or knowing it to be likely that by the use of such force he

will cause injury, fear or annoyance to the person to whom the force is used, is said to

use criminal force to that other.

351. Assault - Whoever makes any gesture, or any preparation intending or
knowing it to be likely that such gesture or preparation will cause any person present
to apprehend that he who makes that gesture or preparation is about to use criminal
force to that person, is said to commit an assault.

Explanation - Mere words do not amount to an assault. But the words which a

person uses may give to his gestures of preparation such a meaning as may make
those gestures or preparations amount to an assault.
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“A” begins to unloose the muzzle of a ferocious dog, intending that he may there
by cause “Y” to believe that he is about to cause the dog to attack “Y”, “A” has

committed __
(1) Force (2) Criminal Force
(3) Assault (4) None of the above

12. V@A @ AW R @ IS sl A Stwe = (' =) WHA A e Wl

an a’} qﬁﬁ “_“____\?’Tl—%—.
(1) w9 (2) PSSR FOHErT
(3) A (4) TR T T

“A” intentionally pushes against “Y” in the street. “A” has done so without “Y’s”
consent, interiding to cause injury to “Y”. The act of “A” is

(1) Force (2} Criminal Force

{3} Assault (4) None of the above
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Among the following statement/s in relation to the paragraph given, is/are correct.

(a) “A” says to “Y” that “I will give you a beating” - this act amounts to Assault.

fb) “A” intentionally pulls up a woman’s veil. “A” does so without her consent
knowing it to be likely that he may thereby frighten or annoy her. “A” has
used criminal force to her.

Answer Options :

(1) (a)is correct. {2) (b) is correct

(3} (a) and (b) both are correct (4) (a) and (b} both are wrong

14. " TF w9 98, e, V" dediem st avanrs) Ik o, F I AT B

Tifed SRR S, @R T dRe s e MU A Ad FA oW
(1) ISR S&waEnT (2) TH
(3) F@FAM (4) TOSUH A TE

“Y” 1s bathing. “A” without the consent of “Y” pours into the bath water which he
knows to be boiling with ill intention, “A” has committed

(1) Criminal Force (2y Assault

(3) Force (4) None of the above
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“Farce” includes -
(a} Use of own bodily power.

(b} By disposing any substance in such a manner that the motion or change or
cessation of motion takes place without any further act on his part or on the
part of any other person.

(¢} By not inducing any animal to move, to change its motion, or to ceas¢ to
move.

Answer Options :
(1) Only (a) (2) (a) and (b}

(3) (a), (b) and (c) (4} None of the above
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Read the following passage and answer the questions 16 to 20.
Hurdles in PM- Kisan Scheme.

The Modi government's cash-for-farmers programme has been able to benefit only
half of the 140 millicn farmers targeted in 2019-20 due to implementation hurdles,
according to figures presented in Parliament. The next disbursal, now due, is likely to
leave out those who have not been able to link their bank accounts with Aadhaar, the
universal 12-digit biometric identity number.

Under PM-KISAN, the government provides income support of T 6,000 a year to
farmers with a valid enrolment, paid in three equal cash transfers of ¥ 2,000 -one
every four months . It was launched on 24 February 2019, when the first instalment
was paid.

At the current rate of expansion, the government is unlikely to spend the entire
¥ 75.000 crore budgeted for 2019-20. As on October 21, 2019, the government has
sperit ¥ 32,577 crore, or 43% of this.

Aadhaar-based enrolment and cash transfers, slow internet connections in many
rural centres and messy land records have slowed the programime, the farm ministry
told a parliamentary panel this month.

Cash transfers tnder the programme take place every four months : December to
Mar:zh, April to July and August to November. In the first instalment period (December
7018 to March 2019), nearly 70.2 million farmers received a total of
¥ 14 055 crore. In the second tranche (April to July 2019), only 59.2 million were paid
a tctal amount of ¥ 11,845 crore. The third instalment saw 33.3 million farmers
benefiting, with a payout of T 6,677 crore.

There’s a reason those numbers look out of place. After all, if 70.2 million farmers
received the first instalment, why did only 59.2 receive a second instalment and only
93.3 million a third ? The agriculture ministry counts the first tranche paid to a
farmer, even if it was paid for the second period due to late enrolment, as the ‘iirst
instalment paid’. This means even if a farmer enrolled in the second period (April to
July 20189 j and got his instaiment for this period as his first ever cash transfer, he will
be counted among those receiving the first instalment (December 2018 to March 2019).
This inflates the total number of farmers, as shown above.

Ir. all, of the targeted 140 million farmers, nearly 71 million farmers have so far
reczived the payouts, as the ministry noted before the parliamentary panel.
I would like to make it clear that the total number of farmers who have got the benefit
is right now 7,17,42,959", a ministry official said in the report to Parliament.

That leave another 69 million to be targeted by March. Based on these,
%3 3 million farmers benefited from the scheme between December 2018 and March
2019 (they have received three instalments), with an additional 25.9 million benefited
from it between Apri. and July {they have received two), and an additional 11 between
August and November {they have received only one).

According to the scheme’s design, farmers registered for the scheme in the first
stage would have received all three instalments released so far since the start of the
scheme. Farmers who registered during the second period would not have receives
the first instalment but would have received the next twa, because the benefits are

not retrospective,
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16. Toe faum faemm = .
(@) WEA.-foram Aremsimia Sad—iar fF wed T 6,000 (e T TE E9R) T e s,
(b) B Fd TuaEEH e .

i I
(1)  (a) WeRT SR T8 (2) (b) F SU TR
(3) (a) T (b) <= & ™A (4)  (a) A (b) T = A

Consider the following statements :

(a) Under PM-Kisan, the government provides income support of ¥ 6,000 in a
year,

(b) This income support is released in instalments.
Answer Options :
(1} {a) only is correct (2) (b) only is correct

{3) (&) and (b} both are incorrect (4) {a) and (b) both are correct

17, G faum faame =7 .
(a) HLun-fram At steasETia geg 9 o,
(b)  SER-yH (STR) ifiem e gy 2 TRR s

Wﬂfﬁ?ﬂ:{'
(1) (a) P SO 3R (2) (b) P SR 3R
(3) (a) T (b) 3 =% RA (4) f(a) T (b) T SR T

Consider the following statements -

(a) PM-Kisan’s implementation has basic lacunae.

(b) Effective linking of Aadhaar-land records is needed.
Answer Options :

(1) (a) only is correct (2) (b) only is correct

(3) (a) and (b) both are incorrect (4) (a) and (b) both are correct
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18. T AW Se0E FAed] Aol U6 8 ¥ IS
(a) STHAE MR T,
(b) S et gl g,
(c) SreRgie I T SHE.

(d) st Aid sTeraET w0,

W‘H’l’ﬁ :
(1) (a) e (2) (a) A0 (b) P
(3) (c) (4) (c) ST (d) B

The purpose of the scheme mentioned in the passage is :
(a) Aadhaar registration of farmers.

(b} Provision of internet to farmers.

{c) Raising income level of farmers.

(d) Update of land records.

Answer Options :

(1) (a) only (2) (a) and (b} only

(3} {c) only (4) (c) and (d)} only
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19. .TH.-fhEm Frsamem fedat 2018 3 AE 2019 TN Tieed 599 Sae-4i Taad T9ai=t
e T H0gTT 3T ;

(1) % 14,055 = (2) T 11,845 F=

(3) T 6,677 B (4) ¥ 75,000 =&

In the first instalment of the PM-Kisan scheme between December 2018 to March
2019, cash transfer to farmers was worth rupees :

(1) T 14,055 cr. (2) T 11,845 cr.

(3) T 6,677 cr. (4) ¥ 75,000 cr.

20. WU o= SHoaaEig § Aeus SR
(a) TR T e gl |
(b) S T arfrem
(c) SeCiT=n A e

ﬂ'ﬂfiﬂ‘?.ﬂ:l‘:
(1) () & (b) % (2) (b) 9 (c) W
(3) (a) 7 () T 4 wowd

PM-KISAN Scheme has these implementation hurdies :
(@) Aadhaar based registration

(b) Incomplete land records

(c) Inadequate internet connectivity

Answer Options :

(1) (a) and (b) only (2) (b) and (c) only

(3} (a) and (c) only (4) All of these
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iRt Tiefar 3E. IEERE S ¥ [T T Sreee S,

AY G e Ay TEEETT FRRi®, m TEVS YaTlE SEHH, Me TS Yo qRgH St R WU
Qe FETIRA YR iadae S TR gestsiied! o= SwRiasae Tde frm Fe) gt
3 e FrEm Mee o989 oF] SAE. SR S (1571-1630) FHT wEie At R
ReltaroTiaEs & TR-TeEE A BT TR wies, {= et snf fron SwreiaEa qiee W TeenH
&3 Adte

{0 74 TTIE YT SaadER FAT T ST 3 o7 Saagoret TR e e I

(1) mgaﬁaﬁﬁmmmaﬁgmﬁhwaﬁwﬁmmmﬂmﬂawmmm
Al

(111) ORI SUETET STedaher=t (W= o) Tt e T weeA ot - refeeA (WA A=)
T HAGHIIN 3TEaL

qﬁmwmswmwmw%mwwm HEs R=Re +h, ¥%
Re T30 geAt= B, h &I QesieAT GRSITTAT e ST, T Eehsvl oo SH :

_ GmMe
(Re + hf?

e2

e F= G:ME o] FUSL 3T @ h<<Re.

3 for 59 JedHE ing TTF SR, IRIS g TEUN o T T

(9 . Sfvae eI feeisd : G=6.67x 1071 N.m2/kg?, J&i™ SRGAM : Me=5.98x 10** kg
Arfor geai= Fa © Re =6.37 x 10° m)
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Read the following passage and answer the questions from 21 to 25,

Physics Passage

The general motion of a massive object under the influence of the Earth’s gravitational
force can be solved in closed form using Newton’s second law. The gravitational force
is given by :

_ GmMe

F 22

Where G is the universal gravitational constant, m is the mass of the object, Me is the
mass of the Earth and R is the distance of the object from the center of the Earth. One
result of this analysis is that Kepler’s laws can be derived for satellites orbiting the
Farth. These three laws were originally discovered by Johannes Kepler (1571-1630)
based on observations of the motion of the planets about the Sun.

They are as follows :
(I)  All satellites move in elliptical orbits with the Earth at one focus.

(II) A line that connects a satellite to the center of the Earth sweeps out equal areas
in equal times.

() The square of the period of any satellite is proportional to the cube of the
semimajor axis of its orbit.

For objects near the surface of the Earth, a great simplification in the mathematics
occurs by approximating the gravitational force to be a constant. Let R=Re+h, where

Re is the radius of the Earth, h is distance of the object from earth surface. The
gravitational force can now be written as :

GmMe

F=_>2""""7"
(Re + h)?

Which is approximately equal to Gm];de when h<<‘1;2e. This constant force is usually
Re -

set equal to mg, where g is defined to be the free-fall acceleration.

(Note : G=6.67x107!! N.m?/kg?. The mass of the Earth is Me=5.98 x 102 kg and its
radius is Re=6.37 x 105 m)
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21, TRETE SHiTE <1 JTONH TEEAN T TR e, e 7% § e AR 3l T, @
ET WIFRTEAIR SR TirSs Jeai= TR THS 3o HNeasdte, Yol ST Fdiash 70 i
EE e
(1) IR FEGM ST il 5o A0,
(2) T A S MeA TqH AT,
(3) 2RI TS T qek e,
(4) OO AL A, HRO T Feiw 3 FoR w0 i e Hrsfe Jom R,

Two balls of unequal mass are dropped from the same height. If the gravitational
force is assumed to be constant, then the theory predicts that they will hit the
Earth’s surface at the same time. If the actual force is used instead, then the
theory predicts :

(1) that the ball with the larger mass will hit first.

(2) that the ball with smaller mass will hit first.

(3) that they will hit at the same time.

(4) nothing, since the equation of motion cannot be solved without the constant
force approximation.

02, TEE B AR € e S § vl gt ySmanT= S< A F6y i ?

GMe GMe
(1) G(Re+th) (2) 2(.‘:(R|E:+h)2 (3) (Re+h) (4) Re + h]2

Which of the following expressions shows how the acceleration due to gravity
depends on the height of an object above the surface of the Earth ?

GMe _ GMe
(1) G{Re+h) (2) 2G(Re+h)? 3)  Rexh) 4) (Re+hP

23. gt SR R S ST m T TEHIE] O S Tensr med T oe. SKRE
HR 4 TR TEAS, T FEA! RS :
(1) TSR & (2) 4 W@H aee
(3) 8 A (4] 64 TN TGS

A satellite of rnass m is in ci;cular orbit around the Earth at a distance R froxp
the Earth’s center. If R is increased by a factor of 4, then the period of the orbit

will be :
(1) unchangsd (2) increased by a factor of 4
(3) increased by a factor of 8 (4) increased by a factor of 64
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24. e FEIEF R 91 SR UF ST NrER S99 fHE o, IY0E ¢ A DA FREET =9
A 8T A=R24/2 TR, FETA! T FrEar o giad R 1, suRen 2¢ ST
SIS ST 9
(1) ¢ PHGA STIr= T2 3% 2N,

(2) ¢ BRI AR A A TN,
(3) ¢ FNG ST I FdH Vo8 T,

(4) & HHERF ST TR T9H I TG,

Consider a satellite in circular orbit around the Earth at a distance R from the
Earth’s center. The area that the satellite sweeps out as it moves through an
angle ¢ is given by A=R%¢/2. Kepler’s second law implies that the time that it
takes for the satellite to move through 2¢ is :

(I} double the time that it takes to move through ¢.

(2) half the time that it takes to move through d.

(3) the square of the time that it takes to move through ¢.
(4} equal to the time that it takes to move through &.

25, qmemmmmww HfrraToTe N AT SR S
E= GmMe[Ri - —1_] ESEE) mamqﬁwméﬁwqﬁmm

e R
T wHI R am feer wifes ?
% % " |
(1) (2138sz (2) [ngder (3) (2gh)” (4) (2 mGRe)”2

The amount of energy needed to move a rocket having mass m from the surface of

the Earth to a distance R from the Earth’s center is E = GmMe(RL - fli) . What is
e

the minimum velocity, the rocket must have in order to completely escape the

Earth’s gravitational field ?

G‘ }/ L 1,
(H (QR:Q Jz (2) (z‘iﬂ”"‘]y" (3) (2gh)” (4) (2 mGRe)”2
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U1 SR AT TR ATERE T 9 Fieh 26 § 30 +ft I fomr.
-mm@sm,mmmmmm@mmm.
3T A wEES) TR, T, TS a T TR HOMY N agdhae IvAR SO e S
A IR SO SRR St HIEA SO YRR @ 9 e @i g, ™
ﬁﬁﬁawﬁmgém%ﬁméﬁﬁuwmﬁm@mmumﬁaw
SHUIEE s SIoh
mﬁmmmﬁﬂm,ﬁ%ﬁﬁmﬂmmmﬁ Bl
e T ¥ SeTeiien o frehie o, ¥ oSmwETdl wu2 ste I S WS aE gt
fpedd TG, EEl TEIYET, GHITH ST SSIYH SEE ST JEFEY ¥ T S
fsTaldy & o TR faumTee STHam, Fomatarig 3 T ¥ STWHT 9 AGUR SR, qHY T I
HTEVR, 375C BTt TS YeEd AU T 3. FRERETY W GEA 9 ¥ HeH R HR I,
UM e THEFTEE 98 U, R oF-9feen 3 Teu T anfor sramien € WAl rem. ToW S
=t S T A B e TR R, S SIREE TET S e $ TR . @ §9Es o | TR
FEE. 9 T TRy ve Al g
Srerdey 9 g TR & WREHEE 3. 3 7, e s Al s eed. o T
TS U q1G Wew e STHaw. TR o 9 TR FOTE RIS ST, S o, Sent
Hf S S A THETERSH TAR Fm. a hOwETy W ey fon-srafean st wifem-
FRETST Aedr. gmﬁﬁmwﬁwmﬁﬁmwwmmm%. 3
TEe YA ve TR o A ST w.
amﬂ@amﬁn@m%(aﬁ@)%ﬁvﬁmﬁwmm@rﬁﬁmwﬁ LRI EALIEE
T ST S B ST SR, SO WAl ST ST e ST T, T o g @
?ﬂfﬂﬁWmﬂaﬁ%qaﬁaﬁ%ﬁﬁmﬁﬁmﬁmmWH@mw,
%kwmﬁﬁmmﬁ%ﬁmmmw@@m. S a7 N Vi S Tl Vg
TR FTAW. qu@:ﬂﬁﬁwmaﬁ%’q{m%ﬁﬂaﬂﬁmmaﬁ 39w S Sl weAm
TS+ TS qA . T 3 T W SRS § e HF.
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Read the following passage and answer the questions 26 to 30.

Plant kingdom includes algae, bryophytes, pteridophytes, gymnosperms and
angiosperms. Algae are chlorophyll-bearing simple, thalloid, autotrophic and largely
aquatic organisms. Depending on the type of pigment possessed and the type of stored
food, algae are classified into three classes, namely Chlorophyceae, Phaeophyceae
and Rhodophyceae. Algae usually reproduce vegetatively by fragmentation, asexually
by formation of different types of spores and sexually by formation of gametes which
may show isogamy, anisogamy or oogamy.

Bryophytes are plants which can live in soil but are dependent on water for
sexual reproduction. Their plant body is more differentiated than that of algae. It is
thallus-like and prostrate or erect and attached to the substratum by rhizoids, They
possess root-like, leaf-like and stem-like structures. The bryophytes are divided into
liverworts and mosses. The plant body of liverworts is thalloid and dorsiventral whereas
mosses have upright, slender axes bearing spirally arranged leaves. The main plant
body of a bryophyte is gamete-producing and is called a gametophyte. It bears the
male sex organs called antheridia and female sex organs called archegonia. The male
and female gametes produced fuse to form zygote which produces a multicellular body
called a sporophyte. It produces haploid spores. The spores germinate to form
gametophytes.

In pteridophytes the main plant is a sporophyte which is differentiated into true
root, stem and leaves. These organs possess well-differentiated vascular tissues. The
sporophytes bear sporangia which produce spores. The spores germinate to form
gametophytes which require cool, damp. Places to grow. The gametophytes bear male
and female sex organs called antheridia and archegonia, respectively. Water is required
for transfer of male gametes to archegonium where zygote is formed after fertilisation.
The zygote produces a sporophyte.

The gymnosperms are the plants in which ovules are not enclosed by any ovary
wall. After fertilisation the seeds remain exposed and therefore these plants are
called naked-seeded plants. The gymnosperms produce microspores and megaspores
which are produced in microsporangia and megasporangia borne on the sporophylls.
The sporophylls - microspoerophylls and megasporophylls - are arranged spirally on axis
to form male and female cones, respectively. The pollen grain germinates and pollen
tube releases the male gamete into the ovule, where it fuses with the egg cell in

archegonia. Following fertilisation, the zygote develops into embryo and the ovules
into seeds.
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26.

28 A

I T € SIS WATE ST AT N ST T TIEeH STges.

(a) o faur quivd sl aE.

(b) T faurde qai aist 7.

(c) =i faurt quiTh 9% e,

(d) e faurmie gEid 99 R,

TatEt 3

(1) & (a) (2) (@@ (3 FW () (4)  (b) 3 (c)
Algae is dependant upon other living organisms for their food and they have
various pigments in them.

(a) The above statement is completely correct.

(b) The former half of the above statement is correct.

(c}] The above statement is completely wrong.

(d) The former half of the above statement is wrong.

Answer Options :

(1) Only {a) (2} (a) and (b) (3) Only (d) (4) (b} and (c)
27. & SeRme) qol aTe Fd A STHdE WY dra S .
(1) Vs (2) SRRy
(3) T ST ST (4) TedE T AR
Plants having well differentiated vascular bundles; but lacking proper seeds are
H}_ﬂ_ﬁg—; (2) Bryophytes
{3) Gymnosperms (4) None of the above
28, YT FSUE aFewine) g W T TR B

(1) Bl 3 gareaRiitheat amed

(2] TEEETTEie 3 JeRmRihea ard

(3} AifedrrTaien & FieRfReR sed

(4) WSS S AR Ted

In gymnosperms, microspores are produced in

{1} Megasporangium borne on Microsporophyll
(2) Microsporangium borne on Microsparophyll
(3) Megasporangium borne on Megasporophyll
(4) Microsporangium borne on Megasporophyll
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29. VAR R T AR e qam

(1) I Ui eoiwrey (2) 3% 9 TRy

(3) T Wi Hadmdey (4) T T ERwEe

In bryophyta, haploid spores are produced in
(1) Multicellular sporophyte (2) Multicelluar gametophyte

(3) Unicellular gametophyte (4) Unicelluar sporophyte

30. 9 7 OISR Hiore ST S e ?

(a) VB

(b)  wETETE

(c) ererdey

(d) Y AR TR

vt 3w ;

(1) *H (a) (2) (a) 0 (b)

(3) () aAfor (q) (4) (), (b), (c) 3Mfor (d)

Chlorophyll pigment is present in which of the following plants ?
{a) Algae

{b) Bryophytes

(c) Pteridophytés

(d) Gymnosperms

Answer Options :

(1) (a) only (2) (a) and (b)

(3] {¢) and (d) (4)  (a), (b), (c) and (d)
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Read the following passage and answer the questions from 31 to 35.

When sewage is dropped on land, the bacteria present in the soil attack on it and
convert the content of sewage into plant food. The latter gets utilized by the roots of
the plants or crops. The organic matter present in sewage undergoes decomposition
by aerobic and Non-aerobic bacteria, but it is profitable to provide aerobic conditions for
the disposal of sewage by land treatment. The oxygen that is required for aerobic
decomposition, is present in different layers of the soil. The CO, produced as a resuit
of decomposition is given by the soils and in turn, atmospheric oxygen is absorbed.
This interchange of oxygen and carbon dioxide take place by wind movements, difference
is temperature and pressure, drainage of soils and many other processes. When
sewage is applied on land, the chemical process of oxidation takes place in which
organic matter of the sewage is oxidised by bacteria. Filtration is the principal physical
action that is involved in the purification of sewage by land treatment. Sewage as it
passes through the layers of the soils gives out suspended particles which are retained
by the voids of the soil. In presence of sufficient aeration, these particles are oxidised
by aerobic bacteria. This physical action mainly depends on the nature of the soil.
Most suitable and satisfactory filtration takes place in porous, loamy or sandy soils.
The heavy soils such as clay are not very suitable for filtration, while rocky soils are
most unsuitable for filtration.

The major portion present in sewage is water, and it can be used for irrigation.
Sewage also contains nitrogen, potash, phosphate, organic acids etc and so it has a
good fertilizer value, because these constituents present in sewage can he directly
used by the plants for their growth. In this way, sewage increases the fertility of the
soils and alse improves the condition of the soil. The type of crop that can be grown,
mainly depends on the quality of sewage and health regulations concerning the use of
sewage on crops.

31. wisuwamE yw fewm RITEI/RIET 3T,

(a) Hfew gered (b) rEES
(c) R gEef (d} it
gt Y

(1) (a) smir (q) (2) (b s7for () (3) () ;@ (q) (4)  (d)
The major portion of sewage is made up of :

(a) Organic matter (b) Nitrogen

{c) Particulate matter (d) Water

Answer Options :
(1} (a) and (d) (2)  (b) and (q) (3) (c) and (q) (4 (d)
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32. TRAGIR PRR fum T AR ?
() SO T erasEAre, Qe STISeTIe M f < .
{b) Y A nieew R w5 S TR
(c) T s Aixa e AR Gl $H FEw.
(d) e S, T YRR STfor A STl S .
Tt I
(1) & (b} M () (2) T (c) I (d)
(3) (a), (b), (c} (4) (0, (o) (d)

Which of the following are incorrect statements ?

(a) A non-aerobic decomposition is not preferred over an aerobic decomposition

by bacterna.
(b) Porous soil is not preferred for filtration.
{(c) Organic acids present in soil decrease the fertility of soil.
(d) Rocky soils are unsuitable for filtration and non-aerobic decomposition.

Answer Options :

(1) Only (b) and (c) (2) Only (c) and (d)
(3) (a), (b), () (4) (b}, (), (d)

33. UIENUETS ST GRIHE BUWR s Bl
(a) wifdes TR (b) TR T
(c) T eSS (d) SfiEm
i S

(1) (&), (o) (2) (b), (c) (3) (b), (d) (4)  (d), (e} d)
The sewage is converted into plant food by :

(a) Physical action () Chemical action

{€) | Carbon dioxide (d) Bacteria

Answer Options :
(1) (&), (o) (2) (b)), (<) (3) (o), (&) (4) (b}, (c), (d)
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34. wisuwgrEN Siar] W gron=n wifsn SueeTen Wi

(a) STAVIE TS IMFIST Bl TS TN Sefen S
(b) TR AR FE SHAFIEST HCPES TS ATaaeH siat 29
(c} W= fafay R SUT ST FET THSHEES AT Sl

Wf‘\‘-ﬂ‘ﬁ‘f:
(1) (a) 3nfOT (b) {2) (b}
(3) (b) 3nfiy (¢) (4) =UE! Frowd T=

During the aerobic decomposition of sewage, 'by bacteria

{(a) the required oxygen is directly taken from the atmosphere

(b) the produced carbon dioxide is interchanged with the atmospheric oxygen
(c) the carbon dioxide present in different layers of soil is used

Answer Options :

(1} {(a)} and (b} (2) )
{3) (b) and (¢ {4) None of the above
35. WAIH HIE Faum I sed ?

(a) e R i e o,

(b) HIEY TR WS SR TR e Sl ST TS TR
IS I,

(c) Wiz, S ghrwm T,

(d) ﬁ&uwﬁm%@ﬁmﬁwwﬁ@ﬁamaﬁﬁ.

mw:
(1} T (a) 30T (¢) (2) HE (a) 0 (d)
(3) W (b) 3nftn (q) (4) (a), {c) 30 (d)

The eorrect statements from the following are :
{a) Filtration is a physical action.

(b) The interchange of oxygen produced in soil and atmospheric carbon dioxide
is temperature dependent.

{¢) Sewage increases the fertility of soil.

(d} Decomposition of organic matter by bacteria could be aerobic or Non-aerobic.
Answer Options :

(1) Only (a} and (c) (2] Only (a) and (d)

(3) Only (b) and (d) (4) . (a), (c) and (d)
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Read the following Passage and answer the questions from 36 to 40.

Political education may be defined as the preparation of a citizen to take well
informed, responsible and sustained action for participation in the national struggle
for the realization of the socio-economic objectives of the country. The overriding
socio-economic objectives in India are the abolition of poverty and the creation of a
modern democratic, secular and socialist society in place of the present traditional,
feudal, hierarchical and inegalitarian one.

Under British rule, the Congress leaders argued that political education was an
important part of education and refused to accept the official view that education and
politics should not be mixed with one another. But when they came to power in 1947,
they almost adopted the British policy and began to talk of education being defiled by
politics. ‘Hands off education’ was the call to palitical parties. But inspite of it, political
infiltration into the educational system has greatly increased in the sense that different
political parties vie with each other to capture the minds of teachers and students.
The wise academicians wanted political support, without political interference. What
we have actually received is infinite political interference with little genuine political
support. This interference with the educational system by political parties for their
own ulterior motives is no political education at all; and with the all-round growth of
elitism, it is hardly a matter for surprise that real political education within the school
system (which really means the creation of a commitment to social transformation)
has been even weaker than in the pre-independence period.

At the same time, the freedom struggle came to an end and the major non-formal
agency of political education disappeared. The press could and did provide some political
education. But it did not utilize the opportunity to the full and the stranglehold of
vested interests continued to dominate it. The same can be said of political parties as
well as of other institutions and agencies outside the school system which can be
expected to provide political education. Most things considered, it appears that we
have made no progress in genuine political education in the Post independence period
and have even sided back in some respects. For instance, the education system has
become even more elite-oriented. Patriotism has become the first casualty. Gandhi
gave us the courage to oppose the government when it was wrong, in a disciplined
fashion and based on principles. He believed the means to be as important as the ends
and taught us to work among the poor people for mobilizing and organizing them.
Today, we have even lost the courage to fight on basic Issues in a disciplined manner
because agitation and anarchic politics for individual, group or party aggrandizement
has become common. The education system of today continues to support the domination
of the privileged groups and domestication of the underprivileged ones. The Situation
will not change unless we take vigorous steps to provide genuine political education on
an adequate scale. This is one of the major educational reforms we need; and if it is
not carried out, mere linear expansion of the existing system of formal education will
only support the status quo and hamper radical social transformation.
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36. TwHE e sifen sfie @ TR ?

(1) erfsmarrn gafi faemE I9sm 20

(2) wHaMeH T fFafo w0,

(3) famestned 3= ifge FRR TR FI,

(4) e T YT/ G0 T ST HE S0,

What should be the ultimate objective of political education ?

(1)
(2)
(3)
(4)

To foster all-round growth of elitism.

To create an egalitarian society.

To prepare students with high intellectual acumen.
To provide genuine support to educational institutions.

37. SAFAER T e de wee M Te A w6 2

(1)

A S ToE FIAOIER A e TR TR %l

(2) T TSRRTT TRAST HE e sTeavaEder W e

(3)

(4) i o fovare P 01, TS TS WeA § WA YU S,

According to the passage, what is the main contribution of Mahatma Gandhi to
the field of political education ?

(1)

(2)
(3)
(4

He spread ‘Political Literacy’ among the people through non-formal political
education.

He emphasized the need for Keeping education free from political interference.
He taught agitation and anarchic politics in a disciplined manner.

He made us believe that our political end should be compatible with the
means.

38. WHTIH! FIUI FYF @ AH ?

(1)

T HOTHR S TSR fa SuaT HEd e

(2] T e A T e See w6 G

(3
(4)

s TREdTEE IS e SevaE ST
TS faero & Safaae |reg anfin W FHR.

Which of the following statements is not true ?

(1)
(2}
(3)
{4)

Freedom struggle helped to educate people politically.

Politital parties provide proper political education.

Political education is necessary for bringing about social change.
Political education is aim and means of individual.
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39. faemm $uforr sacimsd q@1 Tven RoET AR ?

(1) <t fasroren fafen wide T s o,

(2) i Faeneatem TR WA et T

(3) o et Avfierg snfn faumamEE wEaE R,

(4) @ FE SRS aeE wEm I

Which is the major problem of the present education system ?

(1) It is based on the British Model of education.

(2) It does not inculcate values to the Students.

(3} It is highly hierarchical and Inegalitarian in nature.

{(4) It perpetuates the domination of the few privileged.

40. AT Hafes FeEE TTPRo™ F9g H9 8 7
(1) T TR TE¥ar Y ndi Y e,
(2) TR TEHE TS wEie fie et .
(3) T TSI TALINE eq BT T ITa e,
(4) TN T SRRTITRERT 3769 Uiy WidTen W 2,
How has politics been related to educational institutions after independence ?
(1) They got political support without political interference.
(2) They got no political support with political interference.
(3) They got mere political support with political interference.

(4} They got mere political support without political interference.
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YTes JART ST G AMUTHE Uk, 41 & 45 =it Iav fom.

5o TR HITHES! WS 38 ? Wieed] AFEE Tl 8eigel HEhaishs desrel, Srehahearan=,
FER TS TeamEE I @i T A TEEen e AR, W § geriee §E, 9 A
FTOFCHTER APIEE A1, S O ORaSTST Iiiee We S wond, ¢ SEen T e S 92,
ST T FH ST T W T FHow s’ St WU S YorEE SETE e =
TS S, T ST e S srarst 2 s yafiud e e ? W gfesiiagqd sdel, @
TR FHIE L 6 THER STEE ! d TR sTae | d S e | e s
HERT U A W MG SATA0 $eT TEi. AEETSAT FE Siedd SehR SrHa 1 @ AR S
ot e Ao WIS Sv oTE. UHST SR Foed st <0 TP’ i SR, WO W
SEFR STEH] 0 FT FREFTS e Srare] 371 YiEsl. W[ $TRHNH TN &R S0edshe Fifiae
FEE A, A HIE TISIET Sae TSt _

ST ST SR G T i SEHR 7 AN SRR A, TS A A . T
AT SIS S Y OIS AR W AR SEET MR, ST A SATE R T A AR
I SRR 3. A ST W TS WiE HEHR g e FREHmY ST el e,
FIU W A o W T TR, OTHT S PRESR WA FRO ¢ TH gRIH Sedd T
AT ST SR R, IR TieT o, e el ST TUR, e S e e weHer e
F147 SO HEA SO IR, FR 8] TG FREFT 91 10501 32, 1 Te e 39 € Felrshme o
T TS AT FRAR MRS Foh oTR. iUl VUM STk SAORE! ST @RS AR SO
TS WS, e ST T @IS, AR TS TR NS, AHHHE Tt
QTS ST ST TR T el SEfRTTETET T SRRIVET SRE a1 A I ST, 0 e
ST ¥ Y AR, W A Gan i, q e Siaed smee §o faee @ sR-atsaren
T e, gdd Gy Ee. ¥ W wEe HHiE AT . A e T’
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Yo, TR TROTHen T TV O Sdie, T T UTHer il RS 4O SEe. efd: THEeH
e ST VR Sl ST N S 1 foeh 39 €9 g e

51 @R ST el Qe SR STATE S T o, T T SO Fac AU
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41, SIS NERR T HIVA ?

(1) =@ iy TeEe S, (2} =& T 9T .

(3) ST ST U T, (4) ST T @O,

42. IR G9RY YiN® ®iud q 1 2

(1) a0 T | (2) s yafauH
(3) TUEEH : ¥ WeM (4) TEFE TR Shad] i 2

43. ISR TH 7 == e wiwm Sewr oo

(a) 3TN EHR (i) Mg gEEt 39

(b) AP SEER (i) FTEE Tame s

(c) TF FEHER (iii) W< ofem afed
(d) S FREER (iv) oaferaTn 9=y 99
THiEy 36N

(@) (b) (c) (4)
(1} () i) (i) ()
(2) (i) (i) (iv) (i)
(3) () vy (i) ()

4) () i) (i) (iv)
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44, TETE EETY AT FIS W B ?
(1) ‘=ifa & gfe S’ wadwT=n oY A
(2) TR W @S i
i3) RIS AT

4y WA HeERE Tgfaud iR

45. Ay Sredl PEA 1@ S -

(a) HEpAHS TR (i) DrEHCATIHE!
(b) THFEEHTE AU (if) STETHTAHE!
(c) MM S (iii) R Fd
(dy TS FH (iv) TETE T
wartelt WY ; |

(a} (b) (c) {(d)
(1) (v) ) (i) (i)
(2) (i) (i) (v Q)
(3) {i) Gv) (i ()

(4) (i) @i (@ @)
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Read the given passage carefully and answer the question S.No. 46 to 50 on the
basis of the content of the passage.

The richness of great books shows itself in the many levels of meaning they
contain. They lend themselves to a variety of interpretation. This does not mean they
are ambiguous or that their integrity is compromised. The different interpretations
complement one another and allow the reader to discover the unity of the work from a
variety of perspectives. We need not read other books more than once to get all that
they have to say. But we can always go deeper into great books. As sources of
enlightenment, they are inexhaustible.

The interest in many good books that are written is limited to a definite period of
history. They do not exhibit the universal appeal that results from dealing with the
fundamental questions which confront men in all times and places and in a way that
men in all times and places can understand. Great books, on the contrary, transcend
the provincial limits of their origin. They remain as world literature. The ones we are
sure are great, are the once men everywhere turn to again and again through the
centuries,

In view of this, it is often said that great books must pass the test of time. This is
quite true. But it is not the passage of time that makes the book great. They were
great when they were written. An enduring interest in a book merely confirms its
greatness. We may consider some contemporary books great, but we cannot be sure.
Their excellence still remains to be proved before the tribunal of the ages.

Mark Twain once remarked that “the great books are the books that everyone
wishes he had read, but no one wants to read.” People wish they had read them
because they are the indispensible material of a liberal education. They shy away
from reading them because these books require thought. And thinking is hard. It is
probably one of the most painful things that human beings are called upon to do.

The great books are not casy to read. No one should expect to understand them
very well on a first reading, no even to master them fully after many readings. I have
often said that they are the books which are over everyone’s head all of the time. That
is why they must be read and re-read. That is also why they are good for us. Only the
thing which are over our head can lift us up.

46. Choose the best option :
The great books provincial Limits.
(1) consider {(2) justify

(3) illustrate (4) rise above
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47. Choose the best option/s -
‘Great books must pass the test of time.’

Which of the following statement is the closest in meaning to the above
statement ?

{a) Great books must pass our time.

(3) Great books must be considered great over a long period.

(c) Great boolts must be ready to test time.

(d) Great boogs should pass the test conducted from time to time.

(1) @and@d (2 () 3) (@ (4) (0 and (d)

48. Choose the best option according to the passage :
~he difference between good books and great books is that

(a) great books are read quite often but good books are read rarely.
(b} good bool:s are read all over the world while great book are not.

fc) great books have universal appeal and the deal with all time basic issues
related to human beings but good books have limited time appeal.

d) great books pass the test of time but good books may not.
(1) (a} and (b) (2) (o) and (d)
(3) (b) and (c) (4) Only (d)

49. Which of the following statements are true in the context of the given passage 7
(a) Great books require thought.
{b) Good books are world literature.
(c} Hard thinking is not painful for man.
{(d) Great books do not have universal appeal.
(e) Longlasting interest in books make them great.
(1) (a) and () (2) (a), (b) and (c)
(3) (d) and (2) (4) (b) and (d)

50. Choose the best option/s !

The richness of great books shows itself in the many levels of meaning they

(1) control (2) envelop {3) prevent (4) have
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51. fafere Fromic 1o wwen €5 fe ywewiurt A, B, C, D, E, F, G anfor H = faeneatqa 9=
T TR A 3T WG H A T 1 wet e F, W e SR O 2 2 vew fae,

Uieea Fa FEe W T feam SR et ererer =4, v fornell v ww veearE
e wEw. BT L A C =T A Wi Fere 0 3w Siw SR i THEEE
T FAAA STAST WY A T H e A1 TR 32 a1 Toaqm. B4 F 2 C 99t wers 5
FE ek T E 8 A9 D IARIsT AR HM F5 vehdl WY G s oI5 T,

(1) A,B,FSE (2 B,F,E9D (3) A,C,DIE (4} C, B DIE

Two teams are to be formed for completing two different projects in stipulated
time using students A B, C,D EF Gand H. G and H are selected as the
members of team 1, select the members of team 2 with respect to the following
conditions.

There should be at most five students or at least four students in a first team.
Each student is to be selected for only one project. For smooth working it is
useful to include C along with A as they enjoy working together but A and H
always waste time in debating. B and F are not comfortable to work with C,
E comfortably works with A and D but not with G.

() AB,FandE (2) B,F,EandD (3) A,C,DandE (4) C,B,Dand E

52, faum o freer .

(1) | (2) (3)

Select the odd object :

(1) — (2) (3)

HeAT FIHMHG AN/ SPACE FOR ROUGH WORK
P.T.O.



Z13 44 A

53. wWe frd mied svaran anfon e faumide gud freed Fraer.

mﬁaaﬁvmwﬁhﬁmaﬁﬁﬁmmwmwﬁ@wﬁﬁm.

fomr

(2) mﬂfwwwﬁmﬁﬁwaﬁwmwﬁﬁmmw
faurateal Tgrm HE fwe SR

(b) Wmﬁmmmwmﬂwﬁﬁwm#ﬁawﬁw
TEre 3O AR

vt 3¢ :

(1) = (b) (2) (a) T (o) THE A

(3) (a) @ (b) & (4) T {(a)

Study information given and select valid conclusion/s from the given statements
based on it.

In a joint family the number of members who take only coffee is equal to the half
the number of members who take tea and the number of persons who take only
tea is equal to the half the number of persons who take coffee.

Statements :

(a} The total number of persons who take either coffee or tea or both is thrice
the number of persons who take only coffee or only tea. '

(b) The total number of persons who take only coffee and those who take only
tea is twice the number of persons who take both coffee and tea.

Answer Options @
(1) Only (b) (2) Neither (a) and {b)

(3) Both (a) and (b} (4) Only (a)
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54. e wifedt st snftn St s B
w2 fehmr feardt I T S WA g9 T S Sate T SEeE W ST e
3 YgHIY ST STHa, 2 IRt T fon Q. an fawmit ST e et fowet e
T e A SR Wi AN R A T w9 SR, A T T SRt
R:®S %S . % %9 7.
S: W FFTA. PAR % TE
T: 8t %3 Td. T w0 ¥ 3 v 7 T,

TaiEr Iy
(1) R
2) 8
3) T

4) TR sEizer wi=r s Tl Soamanet sproh afde e T,

Study the following information and select guilty person.

Ram was visiting a place where inhabitants always answer any question with two
sentences. One of these is always true while other is always false. While on the
visit he found that his bag has been stolen and he suspected three persons those
visited his guest room. He was sure that only one person is guilty. When he
questioned them they replied as follows.

R : 8 did not do it. I did not do it.

S : 1 did not do it. P did not do it. _

T :1did not do it. I did not know who did it.

Answer Options : o o

(1) R
(2} S
(3) T

{4) There is no logical consistency in replies for making decision with r‘eépect'to
given conditions. :

55. ot Ao e I, Wawider SRmvarE) firer TSR ST o, S Tt 8 U Heo
T IR e 21.0 ¥ SR, ST 13 U 99 @ e T 13,5 Yo BT, SR
ﬁﬁwwwwwmmﬁwmﬁ@wwﬁﬁﬁmwhﬁa@.

(1) 22 (2) 33 {3) 27 (4) 222
Vini travels by monorail to work. She has to use escalator to reach the platform.
It takes her 21.0 seconds to reach the top of the escalator if she runs 8 steps. If

she runs 13 steps it takes only 13.5 seconds. Select the number of seconds that
she would require to reach the top of escalator if she decides not to run any step.

(1) 22 (2) 33 @3 27 (4) 222
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56. TH Aqa GuiE FrEm siafofea F . Sdw e TR dAwere ged Rdl e

o 3 FRfm o gata frere,
w Y @ 37, @ ‘s @) 3

An equilateral triangle is inscribed in a circle. Select the option that indicates
how many times is the area of circle with respect to the area of triangle.

W Y @ 37 @ Vs @ 3

57. mwwmwwwmmwmwgm, N, O, P 3 Q 9IFHMO
TN e aTea. M,P,Nan@nmwﬁa@ﬁa&mﬁﬁﬁﬁgﬁmﬁa@ﬁ
I |G L,Maqmwwwmwaﬁﬁawvﬁaﬁa L, MdNgm
R ?

{1} P (2) N (3) L (4) M

There are six books kept in a steel rack and are pasted with signs as L, M, N, O, p
and Q. M, P, N and Q have blue covers while others have red covers. L, M and Q
are new volumes while the rest are old volumes. L, M and N are law books while
the rest are engineering books. Then which new book of law book has a blue
cover ?

(1y P (2) N (3) L (4) M
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58. @ fewea IR fawiliie &7 faum v 3 9 SR TR W @ e A s I
veRam, e o vt s et i o vl free,

faum :

() X I IOTE VRIS UHE GH WU T S A oA T,
(b) X T 9o eI FE AME Wl FieSelye® AT,

(c) X1 9o TERT T i ffezmsn fa=r = Fwar ol Sl
(d} X I Ioa MUl HE! A Auais I STovEm.

gt 39T

(1} (b} = (d) (2) {a) A (c) | (3) (a) 7 (b) 4 @3@

Two of the four statements given below cannot be true simultaneously but they
‘can be false at the same time. Select the option that indicates the pair of
statements that satisfy given conditions.

Statements :

{a) No citizen of smart city X wastes a single drop of water.

(b) Some citizens of smart city X use water carefully.

(c) Every citizen of smart city X uses water without caring about water crisis.
(d) Some citizens of smart city X use water carelessly.

Answer Options :

(1) (b) and d) (2} (a) and {c) (3) (&) and (b) (4)  {a) and (d)
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59. W@Wrmmﬁmmmwm&mﬁwwﬁﬁﬁ et fa
oo el el S 9 AT qre SRREss 9 @ fR Fden e T
Fredor FS, T STES® F1 A WA ST FHEH § A FRAHA oI T WA S,

R HEAE T SREEET (N IO YAE TR, T HRIEN FHe HEEETET
e TR TR S SRS F HIgheA SR T el .

1 fedten TR i e A Sk faer wey T ?

(1) maﬁmﬁ%ﬂw@mmmmmwm.

(2) FETETE1 AEdE AT BT e S T e FHE o7

(3) mﬁwmmgﬁaﬁﬁ%ﬁwﬁﬂfwmaﬁm@mﬁmﬁmﬁ.
(4) nﬁwﬁmﬁﬁmuﬁﬂmﬁaﬁﬁmﬁmﬁmwaﬁ

Sana wanted to compare her students’ performance after completion of present
terrn with respect to Historical understanding. After analysing their documents
related to history activities and assignments and their records of class work, she
found that Ashu’s performance level is higher during the term than that of Beena.
Karim’s performance is of lower level than that of Dharm. Beena's performance
is of lower level than Karim’s and Ashu’s performance level is higher than Mike.

Which of the following statement based on abave information is incorrect ?

(1) It is not possible to decide ascending order of these five as there is no
sufficiest information about Mike.

(2) Beena certainly ranks fourth when performance is arranged in descending
order.

(3) Ashu’s performance is not definitely of high quality when compared with
other four.

{4) If we are not considering Mike then Dharm’s performance is definitely of
high quality than Karim and Beena.
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60. A WhATIa S THYS BT Sraso gt sramar enftn S a <t siwiq fiad e

¥

(1) 49 (2) 50 (3) 55 (4) 51

Study the accompanying figure showing overlapping equilateral triangles and select
the value of angle a in degrees.

(1) 49 (2) 50 (3) 55 (4y 51
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61. TdE faur aweTan o fadan AT WA s A frerd faer
(a) T R Fard T g faendiarsan Fer T Sy .
(b) T GO T TN T A,
(c) T SR-SHEEIAl THT ST FeimTh FRe Tl fod ST
gt I
(1) W% AFHT Feaido Tae T wde 98qa e
(2 STOTEE T Fesre frRe it ST T s e R,
(3) mﬁﬁ@awwwwwwmwmm
Tt fives.
(4) o ettt e fremd Wi T TR

Study the following statements and select the valid conclusion based on these
from given options.

(a) Members of farmer’s families only can appear for the agricultural university
admission examinations.

(b) Some girls are appearing for admission examination.

{c) All girls candidates are given free coaching for one NGO.

Answer Options :

(1) Members from every farmer’s family are appearing for admission examination.
(2} All persons attending coaching class conducted by NGO are girls.

(3} All students appearing for competitive examination get free coaching in classes
conducted by NGO.

(4) None of the above given conclusion is relevant to information.

62. TH UH WM =R Tqiis den fofee. @I Aoh Al A TEt aeren Wi Hei frede
a7 Wi T ford 0 Forgpeiht i et amfor foren 186, 206, 215 o 194 41 s el

(1) 93 (2) 103 (3) 81 (4) 73

Zina has written down four natural numbers in column. She chose three of
these numbers at a time such that all numbers had equal chances of getting
added. Each triple she came up with sums 186, 206, 215 and 194. Select the
largest number that Zina has written.

(1) 93 (2) 103 (3) 81 @) 73
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Study the information and select the statement that is definitely true with respect
to it.

A’s house is located to the east of houses of B and C. Houses of D and E are
located to the north of B’s house. In the early morning shadow of E’s two storied
house falls on D’s house. E’s house located to the west of C’s house.

(1) A’s house is located to the east of E's house.

(2) E’s house is located to the north of A’s house,

(3] D’s house is located to the north of C’s house.

(4) C’s house is located to the south of A’s house.

64. P31 fie Then 11 3 oF W@ 33 & e fisrd A A 9 F WS e At I e,
feeream ™ WM R P <t wat v fiug frea,

(1) 1 (2) 3 (3) 6 4y 15

A natural number P is multiplied by 11 and 33 is added to it. This sum is divided

by 9 and the remainder is zero. Select the smallest value of P that satisfies given
conditions.

(1) 1 2) 3 3) 6 (4) 15
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A kidney can 'se taken safely from a living person, and can save the life of a dying
patient. Given that the demand for kidney transplants exceeds the supply of
donated kidneys, the law in the India that forbids people to sell one of their
kidneys should be abolished, because this would result in a greater number of
successful kidney transplants. People are worried that it would involve rich
patients exploiting poor potential donors. But selling one’s kidney to support
one’s family is not very much different from supporting one’s family by working in
a dangerous occcupation. Some patients have bought kidneys and received

transplants ir. other countries, where the risks to their life from such operations
can be great,

Select an assamption supporting the above argument from following options.
(1) Poor people are not able tq receive kidney transplants.

(2) Some people in India are willing to sell a kidney.

(3) Kidney transplants carried out in many countries are rarely successful.

(4] Changing the law would ensure an adequate supply of kidneys for transplant.
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Accompanying graphical representation shows ratios of export to import of two
companies namely A (with squares) and B (with triangles) over the given years.
In 2014, export of company A was double to that of company B. If the import of
company A during the year 2014 is T 400 crores, select the most nearest
approximate export of company B during that year.

(1) %500 (2)

(3) T 470 (4)

A

2.0
1.7 -
1.5
1.2 * -
1.0 i - & -
0.7 -

0.5
0.2 -

—

2013 2014 2015 2016 2017 3018"

(1} 500 (2) %260

(3) ¥470 (4} Data is not sufficient
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(1} S-R 2) P-Q (3) B-Q (4) T-R
Select the pair of persons one of whom is the uncle from mother’s side and his
niece respectively using given information. ‘B’ is the father of ‘C’ but ‘C’ is not his
son. ‘P’ is the brother of ‘C’. ‘A’ is the spouse of B’. ‘Q’ is the daughter of ‘C". R’
is son of P %3 is spouse of ‘P. ‘T’ is father of 5.

(1) S-R (2) P-Q (3) B-Q 4 T-R
63. TE =R AR a1t 67 s fe e, T feeredt fagm e A amreq, Teovean faamiqaR
s g 3T A 3T,
e : T TR THH .
e SEH T H AR,
8 #R foaw s
el fea® W A
FAR (1) FR W o S
(1)  FTE Tl S e,
(1) el feaw a9 e,
it 3T
(1] WHHEA TR (2) T () T (3) e () §@  (4) T (D) T
Below four statements and three conclusions are given. You have to take the
given statements to be true. Decide which of the given conclusions logically true
from given statements.
Statements : All roads are buses.
Some buses are cars.
Some cars are days.
All days are nights.
Conclusions : (I) Some nights are buses.
(II) Some nights are cars.
(i1}) Some days are buses.
Answer Options @
(1} None true (2} Only () true (3) Only (II) true (4] Only (i) true
69. Q“WWHWWWW 50 A, 9 35 Wl R, e e = 21 Y goi

Rt e R T R B O e ?

(1) 25 (2) 45 (3)y 30 (4) 32

The diameters of the bigger wheel and smaller wheel of a tractor are 50 cm and
35 ¢m respectively. How many revolutions will the smaller wheel make when the
bigger one makes 21 revolutions ?

(1) 25 (2) 45 (3) 30 4) 32
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Read the following conversation carefully and using this as evidence, select the
option that serves as a conclusion pointing to the disagreement between treasure
hunter and archaeologist.

Treasure Hunter : In general, archaeological artefacts found on public property
cannot legally be privately owned. Centuries-old maritime law allows persons
who risk their lives attempting to rescue a sunken ship are permitted to keep
whatever cargo they can salvage. Under this rule treasure hunters clearly are
entitled to keep the cargo from ancient shipwrecks that they risk their lives to
save from becoming extinct in salty ocean waters.

Archaeologist : Not so. These shipwrecks have stabilized over the centuries they
have lain underwater. The only danger they are in is from greedy treasure
hunters who destroy valuable archaeological evidence in their hurry to loot
artefacts for making high profits.

(1)  Whether maritime law can be ever applied to a ship that has already sunk.

(2} Whether is it legitimate to cal] antique shipwreck in public waters as private
pProperty,

(3} Whether a treasure hunters risk their life when they salvage shipwreck.

(4) In what sense, if any, an ancient shipwreck can be said to be in verge of
extinction.

o] FIHFHTGST 1T/ SPACE FOR ROUGH WORK

P.T.O.



Z13 56 A
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(1) 4:3:5 (2) 6:5:10 (3) 5:6:10 4) 10:5:6

Sanjay, Ashok and Ketan started a business with their investment in the ratio
1:3:5. Afrer 4 months, Sanjay invested the same amount as before and Ashok
as well as Ketan withdrew half of their investment. What is the ratio of their
profits at the end of the year ?

(1) 4:3:5 2) 6:5:10 (3) 5:6:10 (4) 10:5:6

72. 15wa7rﬁwm1om@ﬂqﬁﬁmmﬁﬁm. wfda Huiawnt 6 Afea=
T TS arel SRl TRd TR qI Wl A 7

(1) 10011 (2) 10010 (3) 11010 (4) 12740

A committee of 10 members has to be formed from 15 men and 7 women. In how
many ways can this be done when the committee consists of at least 6 women ?

(1) 10011 (2) 10010 (3) 11010 (4) 12740
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The research published in the Journal of Clinical Endocrinology and Metabolism’,
is the first of its kinds to investigate the association between the chemical triclosan
€Xposure with bone mineral density and osteoporosis. A person can be exposed to
triclosan via consumer products like soaps, toothpastes, sanitizers and other such
products. ‘However little is known about the relationship between triclosan and

Select the most appropriate conclusion based on ahove information.
(1) It is necessary to ban use of triclosan in the products listed above though
very little is known about its effect on animal bones.

(2) Since exact effect of triclosan on human bone is not known, there is no need

(3} Since the association between triclosan and its €xposure with bone mineral
density is already investigated, it is necessary to ban its use in various
products used by human beings.

(4) Since some studies have demonstrated that triclosan may have potential to
affect bone density in animals, it is necessary to ban its use in various
products used by humans,
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(1) 195 (2) 210 (3) 126 (4)

378

S is having some colourful sea shells. She gave one third of these shells and 14
more besides to P. P gave ene third of these shells and 11 more besides to Q. Q
gave one third of these shells and one more besides to her friend R. If R got 14

shells from Q then select the number of shells S originally has.

(1) 195 (2) 210 (3) 126 4)

378

_75. mwmmmﬁamwmmw%mﬁww
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Study the transparent papersheet given on the left-hand side that is folded to get
{riangle of small size by folding it along dotted diagonals bisecting each other and
diamond shape formed due to these and select the most appropriate fold from the

options.

Answer Options :

N .
1 2 3 (4)
. O\ “ ”
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Decision making and problem solving question no. 76 - 80,

(2) WWWWWHWWWWWW
(3) quﬁwﬁﬁﬁmémmmmmwaﬁqwmwmaﬁ%ﬁm

(4) WWWW@HWHWWWWWW
ﬁwwwm@iﬂmﬁmwmﬂww

Your boss was responsible for some decisions related to changing quality of some
product for increasing profit but unfortunately that was run into losses due to fall
in sales. The management of the company compiled a committee to enquire into
this problem. This committee called for your deposition regarding this issue.
Your boss wants you to defend the decisions taken by her. She is likely to remain
your boss for next two-three years. You would,

(1) ... give the fair account of the situation and assure the committee that in
future though being subordinate you and your team members will take care
to assert your critical views related to these kinds of decisions for avoiding
loss.

(2} ... just give the impartial account of what has happened that might result in

her implication, though you are sure that this act will affect your professional
relations with her.

(3) ... give the fare account and emphasis how she summarily rejected the
Suggestions given to her by her Junior assistants like you related to this
matter

{(4) ... show your lack of knowledge related to this matter for saving your boss

from embarrassment and your professional relations with her.
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You are a member of one active group that organizes cleaning sessions in your
area. After reading the news that a safai karmachari dies every five days in
India, all members of group have become restless want to work toward changing
this situation. You all are quite aware of the fact that the wretched manual
scavengers briefly makes news when there is a sewer death due to asphyxiation
or accident, but no authority is heard saying : This is our problem : we’ll fix it
You all are aware of the fact that though many notable persons talk of manual
scavenging as a “gpiritual experience” for any scavenger cleans other people’s
excreta because there is no option and no alternative employment for those born
into the castes identified with scavenging. According to estimates of some agencies
numbers of scavengers in our country is closer to 1,50,000. As a member of this
group you vill persuade other members to give priority for...
(1) collecting funds and finding innovators for developing technological gadgets
that czn take over the grossest (?) task of scavenging.
(2) tackling it as a social problem as the safai karmacharis come from castes,
which have a long history of manual scavenging and enduring discrimination.
(3) assisting scavengers to get empowered to fight injustice as when person
grow i1 such a caste her or his ability to stand up to injustice is rendered
lame ¢t birth.
(4) using social media for making people at large sensitive toward plight of these
people and invite them to come together to pressurize government to make
their 1fe safe and at least not a curse and for collecting needed fund.
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(4) ...mewmmmzwmmmwmﬁm

As the senior civil officer in-charge of some area, you are requested to be guest at
the annual gathering of privately run old age home. While travelling to this place
you came across many small settlements where tribal people were living in depleted
shanties, though the area is full of hatural resources like forests, rivers, springs
and water ponds. When you inquired, people told that all the resources were
grabbed by developers of old age home, forcing them to settle in small areas.

They also told you that since people running old age settlement and inmates of

the home are from high cast and they prevent these people from using river

water, having a bath in the river or do fishing, using forest produce etc. Your
priority will be to :

(1) make and execute a plan for empowering people in the area with the help of
teachers of the colleges from urban part of the area who are interested in
assisting their students in getting practical experiences related to the
theories of humanities and sociology by procuring funds from corporates,

{2) cancel your visit to the gathering by expressing your distress about the
situation, order the authorities of old age home to give these people their
dues and allow them to enjoy resources in the area,

(3) attend the gathering, get correct information about the situation and convince
the organizers and inmates to have some sympathy towards the real owners
of the resources during your speech in a friendly manner.

(4) don't take any action as you believe that everyone has to live with one’s fate.
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You are working as the head of a NGO that is specialized in environmental audit.
Your team has compiled a report about government owned power generation units
that use coal Your report shows that these units grossly violate pollution norms.
Some government officials are threatening you that they will cancel registration
of NGO for which you are working with for making this report public. They are
pressurizing zovernment laboratories for submitting favourable report about these
units and th's would tarnish the credibility of your NGO. In this situation your
priority is to ..

1) ... get vour findings confirmed from another laboratory that is run by
organis:ation engaged in similar work and then disclose the results to public.

(2) ... disclose the report as it is and put the blame on outdated machinery.

(3) ... subriit this report to the higher authority and wait for their response by
giving them sufficient time for investigation and implementing correcting

measures.

(4} ... disclose the report to the public without caring about the threat.
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promoting entrepreneurship in the state,

-00o0-
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